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BEfEEH H 12024408 H10H () ~ 2024408 H17H (+)

TV RE 1.0 RN T D HME36.0 &36. 0 [ELA—/: oUT1 3 4 5 6 17
IN11 13 15 16 17 18
B A YT AaATHy kh T — 0
i = —=2  :0UT IN ZINNE CBM267T N E33 AN A EF300A
NEIIREHE T 4 Tu R BT Ry T
BAL | BINE K4 L oUT IN |GROSS| HDCP | NET | crosshf: 3% EAE | N K4 L OUT IN |GROSS| HDCP | NET |crosshif: e
1|48 H— 39 43 82| 13.2] 68.8 12/ JTB77, 0009 /1 % v 27 51| —F 47 52 99| 25.2] 73.8] 186
21/ = 39 39 78/ 8.4 69.6 4\ F045 A MY e s 52| B A Rl 52 53| 105| 31.2| 73.8] 240
3|EH A 40 41 81/ 10.8| 70.2 IF¥F¥T 4\ 53 ) I1lk% {?ﬁ 42 44 86 12 74 36
4 Wﬁﬂ BE 43 42 85| 14.4| 70.6 25| FINZBER & FIN & B IR 20 = 54| H 5t 43 43 86 12 74 36
b|fEEF H— 42 42 84| 13.2| 70.8 21| BN R T —F 55| M AA a%z 41 45 86 12 74 36| —7 oy
6| FE 47 48 95 24 71 129|[EpE 5 7o X 56 | Kk 153 43 43 86 12 74 36
7 ’T’IZIK Bs— 36 40 76| 4.8 71.2 200 bRAESEX Lo — R b E—7 57| #H FoE, 46 46 92 18 74 94
8|FH =] 39 42 81 9.6| 71.4 | EME bIRAF—F b a—2 hE—> 58| fHIE, —H) 49 43 92 18 74 94
9 IUJ RS 45 48 93| 21.6| 71.4| 107|[EpPE S 7p X ik 59| B B 48 50 98 24 74) 170
10[f8 5 i 44 42 86| 14.4| 71.6 36| N A-BER 60| FEAR & 55 49| 104 30 74| 236 R B PERKE T
11| JKiE M 43 49 92| 20.4| 71.6 94| EMNA X hEX 61 /faJC 40 45 85| 10.8| 74.2 25
12 #8H 47 51 98] 26.4| 71.6| 170/&K~Zuru 62| = —5% 42 43 85/ 10.8| 74.2 25
135 M f&ﬁ 44 41 85| 13.2] 71.8 25| BN HERAEERE X 63 BiFS 47 44 91| 16.8] 74.2 85
4|80 B 40 45 85| 13.2| 71.8 25| b E R i 64| K5 15— 46 45 91| 16.8| 74.2 85
15| %% 45 46 91| 19.2] 71.8 85| FM b BIEAT—F & LosLoi 65| iR A 37 41 78/ 3.6| 74.4 AL —H P EhER
16/ Ht & 41 43 84 12 72 21| BN BEAT—F 66|kl B 45 45 90| 15.6| 74.4 76
17 FE E%i. 41 43 84 12 72 2117500 h—,T L 671 Bt 43 47 90| 15.6| 74.4 76
18|75 H A 39 44 83| 10.8] 72.2 17 KT 68| 7 H Ak 43 47 90| 15.6| 74.4 76
193 HE 43 46 89| 16.8| 72.2 68| AARIE DRRIE & Ao 69 | AT K 39 51 90| 15.6] 74.4 76
20 EPi)E Bl 39 43 82| 9.6 72.4 12| BN & B IRA F20E & 4 0D 35 £a 76 50 70|5FH B 50 46 96| 21.6| 74.4| 139/ E#IL
21 8y H— 40 42 82| 9.6| 72.4 12 1 &2 50 58| 108| 33.6| 74.4| 252
22K SCF] 45 43 88| 15.6] 72.4 57 T210EH K 43 40 83| 8.4| 74.6 17
23| XHE B 45 43 88| 15.6| 72.4 57 T3 IR B3 42 47 89| 14.4| 74.6 68
24|\ TR 42 46 88| 15.6| 72.4 57 47 FEH| 50 39 89| 14.4| 74.6 68
25 LIl sk 41 53 94| 21.6| 72.4| 123/fD7-7- X 75| HEH YR 39 49 88| 13.2] 74.8 57| B2 %85 X 2
26| FEE 37 44 81| 8.4 72.6 9 76| L 5EE 45 43 88| 13.2| 74.8 57
278 H H 43 44 87| 14.4| 72.6 47 T AT f8 43 51 94| 19.2| 74.8/ 123
28 6K H 48 45 93| 20.4| 72.6] 107 18| AT 48 45 93 18 75| 107
29| & H H] 37 43 80| 7.2 72.8 7 9EEH B 45 48 93 18 75| 107
30| K% AR 41 51 92| 19.2| 72.8 U A —T h—AH— 80 |fHI5 F13E 47 46 93 18 75| 107|945 kAR
31 W F&L 37 42 79 6 73 6 81| T|/EH 49 50 99 24 75| 186
32|t EB 40 45 85 12 73 25 82|VAH FEih 39 41 80| 4.8] 75.2 7
33| 7 Kith 42 43 85 12 73 25 83| M flR 44 42 86| 10.8| 75.2 36
34 \HEAT EiR 44 47 91 18 73 85 84| I H% 41 45 86| 10.8/ 75.2 36
35|fERH 7 45 52 97 24 73] 152 %) V—F— 85| B H 45 41 86| 10.8| 75.2 36 FE i L
36| FiEfE HET 42 42 84| 10.8] 73.2 21 86|=H EH3E 47 45 92| 16.8| 75.2 94
3TIRE F K 46 50 96| 22.8| 73.2| 139 873 | Pt 45 47 92| 16.8| 75.2 94
38|¥EM * 34 37 71| +2.4] 73.4 1 88| mift BX 43 49 92| 16.8] 75.2 94
39 R (& 44 45 89| 15.6| 73.4 68 89 |Hly H— 50 48 98| 22.8| 75.2] 170
40|78 H FER 50 45 95| 21.6| 73.4| 129|/1Zthefil (b —>7 « FF) 90| KB 2 H 47 51 98| 22.8] 75.2] 170[> > - U v (4fEA)
41 [F L R 38 38 76| 2.4 73.6 2 91| L Bkl 42 49 91| 15.6| 75.4 85
42|[EB. ®’IE 46 42 88| 14.4| 73.6 57 92| Fa¥E Ak 48 49 97| 21.6] 75.4] 152
43| Kl & 41 47 88| 14.4| 73.6 57 93| KAl ] 43 54 97| 21.6] 75.4] 152
44 £ —1= 49 57| 106| 32.4| 73.6| 245 94 |#8H BT 47 50 97| 21.6| 75.4] 152
45 | FEA 1E 45 42 87| 13.2| 73.8 ATHER IR ZE DO 95 | FA: i 53 50| 103| 27.6| 75.4| 226/7RED 7T > (PP15EAN)
46 /B CREE 43 44 87| 13.2| 73.8 47 96 | FA FER 45 45 90| 14.4| 75.6 76
47| R # UK A 40 47 87| 13.2] 73.8 47 97| =% W& 49 47 96| 20.4| 75.6/ 139
48| EIME R3E 46 41 87| 13.2| 73.8 47 98|+ *$ 48 48 96| 20.4| 75.6] 139
49| KA M 46 41 87| 13.2| 73.8 47 99| THE G 45 51 96| 20.4| 75.6/ 139
50| &R 1E 41 46 87| 13.2| 73.8 ANINT 4 T 7 v 100 KBk JEEE 46 50 96| 20.4| 75.6] 139/ L XDE (CK10kg)
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Pfied=H H 1202408 H10H () ~ 2024408 H17H ()

SR 1.0 AN T TBME36.0 &1E36.0 ELA—nL: oUT1 3 4 5 6 7
IN11 13 15 16 17 18
B TR HRY T AaTHy b AT NR— 0
fEF=2—2  :0UT IN ZINNE cBME267T N PE33 N AEF300A
EALRE S N T 4 JaRX Hgs v Xy T
BAL | BINE K4 2L oUT IN | GROSS| HDCP | NET | crossw fiw 3 ERE | BnE K4 L OUT IN |GROSS| HDCP | NET |crosshfi: i
101[0)1] B&7 53 49 102] 26.4] 75.6| 212 151 [l A, 47 52 99| 21.6| 77.4] 186
102 dbAT F1R 50 52| 102| 26.4| 75.6| 212 152 &% ek 48 51 99| 21.6| 77.4| 186
103/ FRE 49 53| 102| 26.4| 75.6| 212 1534)11 X% 46 46 92| 14.4| 77.6 94
104| £ fd=] 39 44 83| 7.2| 75.8 17 154 | 7K #— 44 48 92| 14.4| 77.6 94
105/ B 3kdh 45 44 89| 13.2| 75.8 68 155|lUA fE— 48 50 98| 20.4| 77.6] 170
106| 3T 2 41 48 89| 13.2| 75.8 68 156|535 fHE 47 51 98| 20.4| 77.6] 170
107 7K SCHE 47 48 95| 19.2| 75.8| 129 157 | g E A 42 56 98| 20.4| 77.6] 170
108|477 -1 46 49 95| 19.2| 75.8| 129 15824 =i 52 58| 110 32.4| 77.6| 262
109kl B pE 45 50 95| 19.2| 75.8| 129 159|F9H Biw] 42 43 85| 7.2 77.8 25
110 | pkiE P& 53 48| 101| 25.2| 75.8| 202|7EFEDT - (BP15E AN) 160 | FRFA FER 49 48 97| 19.2| 77.8| 152|KOBEJZBAUM
111 A 38 44 82 6 76 12 161| &4 =2h 44 53 97| 19.2| 77.8| 152
112401 =RE 44 44 88 12 76 57 162754 =15 56 A7) 103| 25.2| 77.8| 226
113 A & 46 48 94 18 76] 123 163 |k Kot 51 52|  103] 25.2| 77.8| 226
114[fhH 5B 41 46 87| 10.8| 76.2 47 164 5H BHE 51 58| 109| 31.2| 77.8| 255
115 &G fn#k 42 45 87| 10.8| 76.2 47 165 A 1L RER 46 44 90 12 78 76
116 [UA #Fw] 44 49 93| 16.8] 76.2| 107 166 KA ZRH] 44 46 90 12 78 76
117118 4h, 42 51 93| 16.8| 76.2/ 107 167| B3 &G 47 49 96 18 78 139
118|[#5E B 50 49 99| 22.8] 76.2/ 186 168| .1 #) 54 48| 102 24 78] 212
119|HB & 49 50 99| 22.8| 76.2| 186 169]22)1] ] 48 541 102 24 78/ 212
120 BEIK SEfE 52 47 99| 22.8| 76.2| 186|7rED 7 > (UF15{E A) 170 | #A W 161 50 52| 102 24 78] 212|KOBEJ.BAUM
121 [ fa7H ZE 50 49 99| 22.8| 76.2| 186 1718 B2 51 63| 114 36 78] 281
122|fetE FE= 40 46 86| 9.6| 76.4 36 172\ B ek 43 46 89| 10.8| 78.2 68
123/ g 47 45 92| 15.6| 76.4 94 1731048 & 48 47 95/ 16.8| 78.2] 129
124 &1L BB 51 47 98| 21.6| 76.4| 170 1742 A Wikl 50 51| 101| 22.8| 78.2| 202
125 #n4E hilfe 45 53 98| 21.6| 76.4| 170 175|640 Fiz 56 57| 113] 34.8| 78.2| 279
126177/ T B 42 43 85| 8.4| 76.6 25 176| B {Eid 38 44 82| 3.6/ 78.4 12
127/ 5 & 40 45 85| 8.4| 76.6 25 177 RN HR 50 50/ 100/ 21.6| 78.4| 198
128/ #a7c #BR 43 42 85/ 8.4| 76.6 25 178|484 JIE— 45 48 93| 14.4| 78.6| 107
129 FF F b, 45 46 91| 14.4| 76.6 85 1791 7%4 46 47 93| 14.4| 78.6| 107
130/ 3RH =EiR 45 46 91| 14.4| 76.6 85| R ED 7 > (R15{E A) 180 | Z[] {H 58 47| 105| 26.4| 78.6| 240/ KOBEF.BAUM
1314 Frsk 43 48 91| 14.4| 76.6 85 181 |98y Z=HI 52 59| 111] 32.4| 78.6/ 266
132| Kix = 44 53 97| 20.4| 76.6| 152 182|765 gk 54 57| 111] 32.4| 78.6| 266
13371 H HEGRE 45 52 97| 20.4| 76.6| 152 183|787 J5M 53 58| 111] 32.4| 78.6| 266
134|481 5k 54 49| 103| 26.4] 76.6| 226 184 | F=— 38 48 86| 7.2| 78.8 36
135 @A £& 50 40 90| 13.2| 76.8 76 185Nk =R 43 43 86| 7.2/ 78.8 36
136 | ATH #ir 44 52 96| 19.2| 76.8 139 186 s FEZ 44 48 92| 13.2| 78.8 94
137 7% I63E 49 47 96| 19.2] 76.8 139 1871 Bt 52 40 92| 13.2| 78.8 94
138/ K- Tl 43 53 96| 19.2| 76.8| 139 1884 SR 51 47 98| 19.2| 78.8| 170
13911 i 42 47 89 12 77 68 189|#EA L& T 48 50 98| 19.2| 78.8/ 170
140| =% #hitE A7 48 95 18 770 129/ ED T (PRI5EN) 190 At =4 45 53 98| 19.2| 78.8| 170 KOBE}BAUM
141 BEE 45 50 95 18 770 129 191|574 E— 47 57| 104| 25.2| 78.8] 236
142\ H &3¢ 48 47 95 18 770 129 192 16 50 47 97 18 79| 152
143 A Bl— 52 49/ 101 24 77 202 193 |75 % 5 48 49 97 18 79| 152
144 | HIg #% 45 43 88| 10.8| 77.2 57 194| (g — & 48 49 97 18 79| 152
145 FEue [Ee 48 46 94| 16.8| 77.2| 123 195|110 H =i 42 55 97 18 79| 152
146 F1)I1 ffi— 50 50/ 100| 22.8| 77.2| 198 196 2 W] 52 51| 103 24 79 226
147/ &) 45 55/ 100 22.8| 77.2| 198 197|ME 1 BHG 50 53| 103 24 79 226
148| KB /% 53 59| 112 34.8] 77.2] 276 1989 | iz 53 56/ 109 30 79| 255
149 SeF BT 45 48 93| 15.6| 77.4| 107 199 EIE ik 41 49 90| 10.8| 79.2 76
150 B8 B 46 47 93| 15.6| 77.4| 107|FRu—/L 200\ EAT B 49 47 96| 16.8| 79.2| 139|FE@Em—/L
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Pfied=H H 1202408 H10H () ~ 2024408 H17H ()

SR 1.0 RN T P36 0 E36. 0 [FLA—/: ouT1 3 4 5 6 7
IN11 13 15 16 17 18
B TR HRY T AaTHy b AT NR— 0
fEF=2—2  :0UT IN ZINNE cBME267T N PE33 N AEF300A
EALRE S N T 4 JaRX Hgs v Xy T
BAL | BINE K4 2L oUT IN | GROSS| HDCP | NET | crossw fiw 3 ERE | BnE K4 L OUT IN |GROSS| HDCP | NET |crosshfi: i
201 B0 HE(S 47 55| 102 22.8] 79.2] 212 251 | &1L = 49 47 96| 14.4| 81.6/ 139
202 FIR B 39 44 83| 3.6/ 79.4 17 252|178 HALSE 49 53| 102 20.4| 81.6| 212
2034 = 45 50 95| 15.6| 79.4| 129 253Kl FEZ 53 61| 114| 32.4] 81.6] 281
204 |FEI; 1 52 49| 101| 21.6| 79.4| 202 254 |[REK HHE 43 58/ 101| 19.2| 81.8| 202
205|020 {H3h A7 54| 101 21.6| 79.4| 202 265 B S sa A 48 53| 101| 19.2) 81.8| 202
206 | —Ff B 48 53| 101| 21.6| 79.4| 202 256 |/ —ER 45 56/ 101 19.2| 81.8| 202
207 |4y [E A 50 51| 101 21.6] 79.4] 202 257 1A 52 59| 111 28.8] 82.2| 266
208 | KA I 41 47 88| 8.4/ 79.6 57 258 | JII¥H 5 49 62| 111| 28.8| 82.2| 266
209 /i)l JEHE 45 49 94| 14.4| 79.6/ 123 259 [Tifn F L 58 59| 117| 34.8 82.2| 285
210 F 7K i 43 57| 100/ 20.4| 79.6| 198|#fF T 7 ¥ 218N 260 H'E= 47 51 98| 15.6| 82.4] 170D A Z&HMMIY 22— A
211 B3 Zo 50 56| 106| 26.4| 79.6| 245 261 | &0 FA 48 61| 109] 26.4] 82.6/ 255
212kt 1B+ 42 45 87 7.2] 79.8 47 262\ f8H =B 59 49| 108| 25.2| 82.8| 252
213| K¥E B 46 47 93| 13.2] 79.8| 107 263 | E K 59 60/ 119 36 83| 290
214|% ¥ % 45 48 93] 13.2] 79.8] 107 264|f2 5 HilsE 48 58| 106| 22.8] 83.2| 245
215 M BEFET 46 47 93| 13.2| 79.8 107 265|22)I| 1FiZ 55 57| 112| 28.8) 83.2| 276
216|FH # 43 50 93| 13.2] 79.8| 107 266| 8 E & — 51 61| 112| 28.8| 83.2| 276
217 M (R 42 51 93| 13.2| 79.8/ 107 267|/5FF $R— 46 53 99| 15.6| 83.4| 186
218t & 47 52 99| 19.2] 79.8] 186 268|db% &E 46 53 99| 15.6| 83.4] 186
219 BB 1H B 52 53| 105| 25.2] 79.8] 240 269 | & DK 57 54| 111| 27.6| 83.4| 266
220 | [ A 3k 52 53] 105| 25.2| 79.8] 240|#F T 7T v 21KA 270|495k #=A 50 42 92| 8.4| 83.6 MDA &BINHAY 2— K
2214 F 152 48 50 98 18 80| 170 271\ FEey 38 53 91| 7.2 83.8 85
222 LI FERR 46 52 98 18 80| 170 27281, B 47 50 97| 13.2| 83.8| 152
223 R 7% 51 53| 104 24 80| 236 2735 ST 50 59| 109 25.2] 83.8| 255
224 | B8 fEIE 51 53| 104 24 80| 236 27411 Folgk 50 52| 102 18 84| 212
225 | KA Fnpk 54 56/ 110 30 80| 262 275 FLl] BERA 50 58| 108 24 84| 252
226 i A& 58 52| 110 30 80| 262 276K #HE= 57 63| 120 36 84| 291
PP 48 49 97| 16.8| 80.2| 152 YL S 58 62 120 36 84| 291
228 | H 1&— 48 49 97| 16.8] 80.2] 152 278| KiE ¥ 46 61| 107| 22.8| 84.2| 250
229 $iK E L 41 56 97| 16.8| 80.2| 152 279 1A THS 51 55| 106] 21.6| 84.4| 245
230 [ %61 51 52| 103] 22.8] 80.2] 226/ T v 21KCA 280 |/ \bk 51 67| 118] 33.6] 84.4] 288/V A Z&HBMAT 2 —R
231 AL (EAs 50 53]  103] 22.8] 80.2] 226 281 |#R A ETH 58 53| 111 26.4| 84.6| 266
232 |tk /A 51 52|  103] 22.8] 80.2| 226 282\FF F B 56 61| 117| 32.4| 84.6/ 285
23310 =& 47 56| 103] 22.8] 80.2| 226 283kl fnd 43 53 96/ 10.8| 85.2] 139
234\ KiF FEX 52 57| 109] 28.8] 80.2| 255 284 KB 15 47 55| 102] 16.8] 85.2] 212
235 K+ B E 52 50/ 102 21.6| 80.4| 212 285 | A [E A 49 53| 102| 16.8) 85.2| 212
236 B & 49 53| 102] 21.6] 80.4| 212 286 516 A b 53 61| 114| 28.8| 85.2| 281
237 Kig H1X 50 52|  102] 21.6] 80.4] 212 2877k &L 62 60| 122 36 86/ 294
238 | g HEEgE 46 61| 107| 26.4| 80.6| 250 288 |{=H & 50 59| 109| 22.8/ 86.2| 255
239 A F5ik 56 57| 113] 32.4| 80.6| 279 289 | RXE 54 57| 111 24 87| 266
240 K& B2 40 48 88| 7.2| 80.8 ST T 7% 21N 290| Al & 55 54| 109] 21.6| 87.4] 255|0 A T &BNAY 2 — R
241 &) 41 53 94| 13.2| 80.8 123 201 |[wlAT B 58 63| 121| 33.6/ 87.4| 293
2424 HZU 55 51| 106] 25.2| 80.8| 245 202| AR 52 66/ 118 28.8| 89.2/ 288
243 | [LAR SPEE: 49 50 99 18 81| 186 203\ 4& B A1 52 73] 125 34.8| 90.2| 295
244 ] HE— 53 52| 105 24 81| 240 204\ [ RH 62 54| 116 25.2| 90.8| 284
245\ FEIL = 52 59| 111 30 81| 266 295|ZEjE 5L 62 65| 127 36 91| 297
246 | H: I i 49 62| 111 30 81| 266 296 | /MK HET- 60 66/ 126] 34.8| 91.2| 296
247 HHF 47 51 98| 16.8| 81.2/ 170 207 | #7 = BAN 59 58| 117 24 93| 285
248 |41l #E 53 57| 110 28.8| 81.2] 262 20812 H B H] 65 70/ 135 36 99| 298
249 | IS H% 46 51 97| 15.6| 81.4| 152 299 | #1H fSC 70 66/ 136 36|  100| 299|[EPE 5 7 XiibE
250 | 7K #H STHE 47 50 97| 15.6| 81.4] 152|D1(H) 1X¥—% 3004 3UE 72 75| 147 36/ 111] 300 i~ A7 A u v
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